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QUESTION 1: Introduction to Demography

[24]

The table below shows data collected for the inhabitants of a rural settlement in the

South of Namibia.

Female

Age Male Male (%) | Female (%) Total
0--4 829 6.1 773 5.69 1602
5--9 724 5.33 663 4.88 1387
10--14 701 5.16 732 5.39 1433
15--19 761 5.6 744 5.48 1505
20--24 631 4.64 632 4.65 1263
25--29 449 33 477 3.51 926
30--34 372 2.74 384 2.83 756
35--39 358 2.64 382 2.81 740
40--44 398 2.93 390 2.87 788
45--49 390 2.87 378 2.78 768
50--54 329 2.42 343 2.52 672
55--59 246 1.81 304 2.24 550
60--64 185 1.36 212 1.56 397
65--69 124 0.91 188 1.38 312
70--74 84 0.62 115 0.85 199
75--79 64 0.47 76 0.56 140
80--84 36 0.26 55 04 91
85+ 20 0.15 37 0.27 57

Use the data provided to calculate and interpret the following:

1.1) Child-Dependency Ratio

1.2) Age Dependency Ratio

1.3) Total Dependency Ratio

1.4) Gender Ratio

1.5) The median age of the population

(4)

4)
(4)
(8)



QUESTION 2: Mortality [36]

2.1)

2.2)

2.3)

Carefully distinguish between the following, Neonatal ; Post-Neonatal & Child
Mortality Rates (6)

Distinguish between proximate and non-proximate determinants of mortality,
and give two examples for each (6)

Carefully consider the Life Table provided below, and find the missing values

(a—=1) by showing all your calculation : (12x2=24)
(1) ) &) ) ®) © ™ ®
Xto x *+n nlVi ngx Ix ndx nix Tx ex
0-1 0,01680 | 0,01655 | 100000 1655 08494 | 6344162 | 63,44
1-5 0,00209 | 0,00832 | 98345 818 391420 | 6245668 | 63,51
5-10 0,00067 | 0,00334 | 97527 326 | 486820 | 38354248 | 60,03
10-15 0,00049 | 0,00245 | 97201 238 | 483410 | 5367428 | 55,22
[ 15-20 ][0.000142 a c [ ¢ ||l & i k
[ 20-25 ||| 0.00278 b d [ || n ] i 1
25-30 0,00266 | 0,01321 | 94948 1254 | 471604 | 3920856 | 41,29
30-35 0,00310 | 0,01538 93694 1441 464865 | 3449253 36,81
35-40 0,00479 | 0.02367 | 92252 2183 | 455804 | 2984389 | 32,35
40-45 0,00675 | 0,03319 | 90069 2089 | 442872 | 2528586 | 28,07
45.50 0,01110 | 0,05400 | 87080 4702 | 423642 | 2085715 | 23,95
50-55 0,01705 | 0.08176 | 82377 6736 | 395047 | 1662073 | 20,18
.55-60 0,02798 | 0,13075 | 75642 9890 | 333482 | 1267026 | 16,75
60-65 003712 | 0,[6984 | 65751 [1167 | 300838 | 913544 13,89
65-70 0,05406 | 0,23812 | 54534 12097 | 240427 | 612706 11,22
70-75 0,07890 | 032951 | 41587 13703 | 173675 | 372279 8,95
75-80 0,09047 .| 036891 27584 10287 | 113702 | 198604 7.12
80 - 0,20726 | 1,00000 | 17597 17597 84902 84902 4,82




QUESTION 3: FERTILITY [25]

The table below shows data for Namibian Population in 2010

Age Group # Women # Births
of Mother
15-19 42 346 675
2024 46376 5125
2529 36453 4345
3034 31657 1875
35-39 22435 966
4044 12764 167
45 - 49 2345 109

Use the data provided to calculate and interpret the following statistical measures:

3.1)  All age specific fertility rates (3)
3.2) General fertility rate (3)
3.3) Total fertility rate (5)
3.4) Mean age of child-bearing (5)
3.5) The variance and standard deviation in the age of child-bearing (6)
3.6) The coefficient of variation in the age of child-bearing (3)

QUESTION 4 : Nuptiality [15]

4.1) Define the term “Nuptiality” in demography (1)

4.2) Distinguish between “age/sex — specific “ marriage rate and “ order-specific”
marriage rate.” (3x2=6)

4.3) The total number of marriages ( M = 575 246 ) and the midyear population (P =2
052 460 ) as well as the midyear population of marriageable persons ( P, =1505

684 ) are given. Use ¢ =1 000.

a) Calculate and interpret the crude marriage rate for this population (4)
b) Calculate and interpret the general marriage rate for this population (4)

XXXXXXXXXXXXXXXKXXXXXXXXXXXXX  END OF EXAMINATION  XXXXXXXXXXXXXXXXXXXXXXXXXXX



